QUADRILATERALS

A plane figure bounded by four line
segments AB, BC,CD, and DA is
called a quadrilateral. It is denoted
by symbol ‘&3’ i.e. ;g ABCD.

1.

Properties :

The opposite sides are equal and
parallel.

2. Opposite angles are equal.( /A= / C)
D C and (/£ B= £ D)
F 3.  Sum of any two adjacent angles is
180°,
4.  Diagnonals bisecet each-other.
E D, Diagonals need not be equal in
length.
A B 6. Diagonals beed not bisect at right
irs of consecutive (adjacent : angle.
peism of consaciiiive (pclacentjangles: ,  p o Mgonsl divides = | g into
(,A,/B), (/B. £C) (£C, /D) .
2 . ' ; ’ two congruent triangles.
(4D, ﬁ?;djacent e - i.e. AABC= AADC and AABD
(AB,BC), (BC,CD), (CD,DA) and = ABCD.
(DA,AB) ~ 8. Bisectorsof the angles of a | | gm form
Pro;:erties : a rectangle.
Sum of four interior angles is 360°. i.e. PQRS is a rectangle.
ie.DA +DB +DC +DD = 360°
The figure formed by joining the
mid-points of a quadrilateral is a
parallelogram.
1
Area of .ABCD = EACX(DE+BF)
Types of Qllﬂ‘:ll'ﬂﬂt;’“:" , 9. A ||gm inscribed in a circle is a
gm) : A quadrilatera rectangle.
whose opposite sides are parallel. 10. A ||gm circumscribed abouta circle
D . C is a rhombus. |
L 11. AC? +BD? = AB? + BC? + CD? + AD?
= 2(AB? +BC?) ,
12. Area of | |gm ABCD = Basexheight
= ABxh
= ABx AD Sinq
A i R
Mo, —z13]
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13.

14,

15.

16.
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are equal.
| |gm that lie on the same base and

between the same parallel lines are
equal in area, 1.€.

Q D P C .
y V |
A B
if1 | | m, then ar{ ABCD)=ar({. ABPQ)

if 1| | m, and | |gm ABCD and A APB
made on the same base AB then,

D P C

m

1
ar( A APB) = ar (“ABCD)

A | |gm is a rectangle if its diagonals
are equal.

Rectangles: A rectangle is a | |gm
with all angles 90°

D - 4 C

.
Simr—

£

Properties :
Diagonals are equal and bisect each

_other, but not necessan‘iy at I‘ight

) L
For the given perimeter of rectangles
a square has maximum ’
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1.

8.

The figure formed by ioinin.
mid-points of the adjace‘r]lt ;tltga the
rectangle is rhombus. of
Area of rectangle ABCD = lenéth
brcadth =]xb X

Diagonals of a rectangle = m

Bisectors of the angles of 5 rectang,
(a | |gm) form another rectangle

Rhombus: A | |gm having g the
sides equal is a “rhombus”.

= C
90°

A

d
Properties :
AB = BC = CD = DA = a (say)
Diagonals bisect each other at right
angle, but they are not necessarily
equal.

A rhombus may or may not be a
square but all squares are rhombus.
The figure formed by joining the mid-
points of the adjacent sides of a
rhombus is a rectangle.

A | |gm is a rhombus if its diagonals
are perpendicular to each other.

1
(a) Area of rhombus = *2*'>< product of

diagonals = 5 xdd,

(b) Area of rhombus = Product ¢
adjacent sides x sine of the incl¥
angle.

AC=d, and BD =d, (say)
then, d 2 + dz? = AB?+ BC? +
DA? = d2+d,?=4a’ .
A rhombus is a square !
diagonals are equal.
Le.ifdl =d2 — ABCDisa

P

cp't
f its

squal‘ :




gquare: A square is a rectangle with
adjacent sides equal or a rhombus
with each angle 90°.

D C

Properties :
AB = BC = CD = AD = a (say)

&/A=LB=LC=LD=%°
Diagonals are equal and bisect each
other at right angle.

The figure formed by joining the
mid-points of the adjacent sides of a
square is a square.

d!
Area = (side)? = g = —2— ,and

diagonal(d) = 4+/2 -

Trapezium: A trapezium is a quad-
rilateral with only two sides parallel
to each other.

D c
/‘3—\
A M B
Properties :

LA+4D=/B+£C =180°
IfE and F are the mid-points of two

non-parallel sides AD and BC respec-
ther ’ thﬁn -

Median(EF) = %—(AB +DC)

/N

A B

— —

Area of rtapezium =7 (sum of

2
parallel sides)x height

x (AB + CD) x DM

1

2
1

= (AB+CD)xh

Sum of square of diagonals = (sum of
squares of non-parallel side) + 2(prod-
uct of || sides)

i.e. AC? + BD? =BC? +AD? +2AB.CD
By joining the mid-points of adjacent
sides of a trapezium four similar
traignles are obtained.

D C
A0 _BO 0
oC 0D

A B
The mid-point Theorem -

A

AN
B/ \C

E and F are the mid-points of side
AB and AC respectively then,

EF=%BC and EF || BC

PLYGONS:- A closed-figure bounfied
by three or more than three straight

lines.
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e.g. No. of sides Name
Triangle

Quadrilateral

Pentagon

Hexagon

Heptagon

Vo~NOwmdw

Nonagon

10 Decagon ' 3.
i  Conwex Polygon:- A ploygoninwhich 4

none of its interior angle is more than
180°, is known as a ‘convex poygon’.
e.g

Concave Polygon:- A polygon in
which atleast one interior angle is

more than 180°, then it is said to be °-

‘concave’.

Octogon 2.

A B

Regular Polygon:- A polygop j,
which all the sides are equal ang also
the interor angles are equal, ig calleq
a Regular polygon’,

if n = total no. sides of a regy|,,
polygon, then -

Sum of interor angles = (n -2)x 180

360“)

n

Sum of all exterior angle = 360° |
Each interior angle = 180°- exterior
angle

—> interior angle + exterior angle =
180°

Each exterior angle =(

n(n-3)
2

Number of diagonals =

Advance Maths- Where Concept is '
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Exercise
LEVEL - 1

In which of the following is the
lengths of diagonals equal ?

(a) Rhombus (b) Rectangle
(c) Parallelogram (d) Trapezium
How many diagonals are there in a
octagon ?

(a) 10 (b) 14

(c) 18 (d) 20

A polygons has 44 diagonals. The
number of sides of the polygon is :
(a) 11 (b) 10

() 13 (d) 12

The angles of a quadrilateral are in
theratio 1:2: 3: 4, the largest angle
is :

(a) 120° (b) 134°

(c) 144° (d) 150°

The sides BA and DC of a
quadrilateral ABCD are produced as
shown in figure. Then the true
statement is :

@ X+ =g+ p°
(b) X' +a’=y°+ p°
(C) 2xo+y"=_.a°+b°

“ach interior angle of a regular
?so?ygon is 120°, The number of sides

(a) 7

€ 5 (b) 6

(d) 8

Maths. Where Concept is Paramount—
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10.

11.

12,

13.

14.

Each interior angle of a regular
octagon is :

(a) 120°

(c) 135°

(d) None of these
JABCD is a | |gm, AB = 14cm, BC =
18cm and AC = 16cm. Find the length
of the other diagonal ?

(a) 30cm (b) 32cm

(c) 26cm (d) 28cm

If ABCD is a rhombus, then :

(a) AC? + BD? = 4AB?

(b) AC? + BD? = AB?

(d) AC? + BD? = 2AR?

(d) 2(AC? + BD?) = 3AB?

The ratio of the measure of an angle
of a regular octagon to the measue of
its exterior angle is :

(@ 1:3 (b) 2:3

(€ 3:1 (d) 3:2

The sum of the interior angles of
polygon is 1440°. the number of sides

(b) 90°

of the polygon is :
(a) 9 (b) 10
(c) 8 (d) 12

Two parallelograms stand on equal
bases and between th same parallels.
The ratio of their areas is :

(@) 1:1 (b) 2:1

() 1:3 d) 1:2

The length of a side of a rhombus is
13cm and one of its diagonal is 24cm.
The length of the other diagonal is:
(a) l4cm (b) 12cm

(c) 20cm (d) 10cm

The sum of all exterior angles of a
convex polygon of n sides is :

(a) 4 right angle

2
(b) . right angle
(c) (2n - 4)right angle

(d) -g- right angle.




15.

16.

17

18.

19.

20.

21.

The diagonals AC and BDofa | 8™

£
ABCD intersect each other at th

a B
point O such that 2 DAC _E';
and / AOB = 80°. Then Z DBC =

D W
0
N
80°
[ /
A B
(a) 50° (b) 40:
(c) 45° (d) 30

The perimeter of a | |gm is 22cm. If
the longer side measures 6.5cm.
What is the measure of the shorter
side?

(a) 5.5cm (b) 4.5cm

(c) 6.0cm (d) 5.0cm

If an angle of a | |gm is two-third of
its adjacent angle, then the largest
angle of | |gm :

(@) 72° (b) 60°

(c) 108° (d) 120°

The figure formed by joining the
mid-points of the adjacent sides of a
rectangle is a :

(a) square (b) rhombus
(c) rectangle (d) trapezium
The bisectors of the angles ofa | |gm
enclosed a :

(@) rectangle (b) rhombus

(c) square (d) trapezium
If ABCD is | |gm with two adjacent

angles A and B equal ot each other,
then the | |[gmisa:

(a) square
(c) rectangle
(d) both (a) and (c)

In the adjoining figure, the valye of x
and y are :

(b) rhombus
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23.

24.
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32°
42°
7 By
A B
(a) 6, 4 (b) 5, 4
(c) 4,95

(d) None of these

In the given figure, ABCD is a | |l gm
in which diagonals AC and Bp
intersect at O. If ar(| |gm ABCD)is
56cm?, then the ar( A OAB) =?

C D

A

(a) 28cm? (b) 22cm?

(c) 42cm? (d) 14cm?

If the diagonals of a quadrilateral
bisect each other and are perpendicu-
lar, the quadrilateral is :

(a) rhombus (b) rectangle
(¢) square (d) trapezium
The diagonals of rectangle ABCD
meet at O. If / BOC = 44°, then

Z OAD is equal to :

D C
0
440
A B
(@) 90° (b) 60°
(c) 100° (d) 68°




25.

26.

27.
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PQRS is a square. The / SRPis equa)
to:

S R

P Q
(a) 90° (b) 45°
(c) 100° (d) 60°

ABCD i1s a rhombus with / ABC
=50° then /ACDis:

A D

B'\?O #
(a) 50° (b) 90°
(c) 65° (d) 70°

One angle of a pentagon is 140°. If
the remaining angles are in the ratio
1:2:3: 4, the size of the greatest

angle is :
(a) 150° (b) 180°
(c) 160° (d) 170°

PORS is a | |gm. PX and QY are
respectively, the perpendicular from
Pand Q to SR and SR produced.

Then PX is equal to :
P Q
[
8 R

29,

30.

31.

32.

(@) QY (b) 2QY

1
(c) EQY (d) XR
In the given figure, what is the ratio
of the area of the D STR to the area
of the rectangle PQRS ?

P ; 1Q

S R
(@) 1:4 (b) 1:2
e} 1:3 d) 2:1

ABCD is a ||gm CL 1 AD and

DM 1 B4- If CD = 16 units, DM

= 12 units and CL=15units, then AD
=7

D C

M A B

(a) 12.8 units (b) 13.6 units
(c) 11.1 units (d) 12.4 units
If a square and a rhombus stand on
the same base and between two
parallel lines then the ratio of the
areas of the square and the
rhombus is :

(a) 2:1 (b) 1:4

(c) 1:4 (d] 1:1

If area of a | | gm with sides a and b
is A and that of a rectangle with sides
a and b is B, then :
(a) A>B

(c) A=B

(d) none of these.

(b) A<B




33.

34.

35.

37.
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In a trapezium ABCD, if AB || CD,
then AC? + BD? is equal to :

(a) BC? + AD? + 2AB.CD

(b) AB? + CD? + 2AD.BC

(c) AB? + CD? + 2AB.CD

(d) BC? + AD? + 2BC.AD ‘
ABCD is a quadrilateral in which
diagonal BD = 64cm, AL | BD, such
that AL = 13.2cm and CM =
16.8cm.The area of the quadrilateral
ABCD in square centimetres is :

(a) 422.4 (b) 690.0

(c) 537.6 (d) 960.0

Each interior angle of a regular

polygon is 144°. The number of sides
of the polygon is :

(a) 8 (b) 10

(c) 10 (d) 11

ABCD is cyclic trapezium whose sides
AD and BC are parallel to each other.
If / ABC = 72°, then the measure of

the /BCD is :
(a) 162° (b) 18°
(c) 108° (d) 72°

If an exterior angle of a cyclic
quadrilateral be 50°, then the
interior opposite angle is :

(a) 130° (b) 40°

(c) S0° (d) 90°
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LEVEL - 2

Any cyclic parallelogram hay;

unequal adjacent sides is nece o8
(a) square (b) rectangle
(c) rhombus (d) Trapeziyp

In a quadrilateral ABCD, AQ ang BO
are the bisectors of /A and ,p
respectively, then / AOB is equa] t,.
(@) £C+«£D

b) 2£C+24£D

() —;—(ZC +4£D)

1
(d) E(AC —~ 4D)

In a parallelogram ABCD, AO and BO
are th bisectors of /A and /B
respectively, then / AOB is equal to:
(a) 60° (b) 120°

(c) 100° (d) 90°

The angle bisectors of a parallelogram
form a :

(a) rectangle (b) rhombus
(c) square (d) trapezium
The measures of the angles of a
quadrilateral taken in order are
proportionates to :

(a) parallelogram (b) trapazium
(c) rectangle (d) rhombus
If one of the interior angles of 2
regular polygon is equal to 5/6 times
of one of the interior angles of &
regular pentagon, then the no. of

sides of the polygon :
@ 3 (b) 4
(c) 6 (d) 8

The sum of all the interior angles of
a regular polygon is three times the
Sum of its exterior angles.

The polygon is :
(a) hexagon (b) decagon
(€) octagon (d) monagon




10.

11.

Ad
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two regular polygon is 2 : 3 and the
ratio between their interior angles is
6 : 7. The number of sides of thege
polygongs are respectively :

(a) 4’ 8 (b) 8, 12
Difference between the interior and

exterior angles of regular polygon is
60°. The number of sides in the

polygon is :
(@) 5 (b) 6
(c) 8 (d) 9
Find the area of ABCD :
20cm
D C
12cm 20cm
B
A 16cm

@) 424 +25,/3)cm’
(b) 4(25+24,/3)cm’

© 224+ 25,3)cm’

(d) None of these

In the trapezium ABCD, / BAE
30°, / CDF = 45° BC = 6cm and AB
12cm. Find the area of trapezium:

2] C
30° 4 45

C ]

A E i

() 18(3+J3—)cm“‘ (b) 36J§cm2

(c) 12(3+2J§)cm"' (c) None of these
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' The ratio between the no. of sides of 12

13.

14.

15.

16.

In.' |gm ABCD, AB = 10cm. The
altitude corresponding to the sides
AB and AD are 7cm and 8cm
respectively. Find AD :

C

B
(a) 8.50cm (b) 8.25cm
(b) 8.75cm (d) 9.00cm

ABCD is a trapezium in which AB | |
DC and AB = 8cm, BC = 10cm, CD =
12cm, AD = 16cm, then AC? + BD? is

equal to :
(a) 458cm? (b) 448cm?
(b) 546cm? (d) 548cm?

A regular polygon is inscribed in a
circle. If a side subtends an angle of
36° at the centre, then the number
of sides of the polygon is :

(a) S (b) 10

(c) 12 (d) 9

If O is a point within a rectangle
ABCD then :

(a) OA? + OC? = OB? + OD?

(b) OA? + OB? = OC? + OD?

(c) OA+0OC=0B+0D

(d) OA x OC =0OB x OD

In the given figure, ABCD is a | |gm
and E, F, G, H are the mid-points of
AO, DO, CO and BO respectivelyx

EF + FG+GH +HE _,
then % p+DC+CB+BA

D C




(a) pamllclogram

:3 };l; ‘{:: :i (b) rhombus
17. In the given figure AE = BC and AE (c) square

ree sides AB, CD (d) rectangle ‘
IfZA 21. ABCDisA ||gm, E is the mid-pop,
of AB and CE bisectsABCD

|| BC and the th
and ED are equal in length.
= 102°, find measure of / BCD:

x Then / DEC is:
D C
B
(a) 138° (b) 162° | .
(c) 88° - E 2
{d) None of these
18. If ABCD is a rectangle. P, Q are the (a) 60° (b) 90°
mid-points of BC and AD respectively (c) 100° (d) 120°
andal} is anyv point on PQ, then DARB 22. The difference between an exterior
e 15 ' : angle of (n - 1) sided regular polygon
LT = (—ABC and an exterior angle of (n + 2) sided
@) 6 (SABCD) (b) X = ) regular polygon is 6°, then the value
1 1 ofnis:
() Z(ABCD)  (d) 7 (DABCD) (@) 15 (b) 14
19, T b ud (c) 12 (d) 13
- uf;c‘ﬂﬂ'zfnxﬁgum' AB || CD, find 23, P isa mid-point of sideAB to a | |gm
3 ABCD. A line through B parallel to

PD meets DC at Q and AD produced
at R. Then BR is equal to :

. A = B
(a) x=8 (b) x=9
(b]x=§or9 (d) x=10
20. ABCD is a | |lgm and X, Y are the
mxd-pqmts of sides AB and CD
ismfpecm-cly.'l'l'scn quadrnilateral AXCY D Q C
D ¥ C R
1
(a) BQ (b) 5 BQ
X £ ! (c) 2BQ
(d) None of these
Advance Maths- Where
Concept is Paramoyng—
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5 ABCD is a trapezium in which AB | |
" cD. M and N are the mid-points of
AD and BC respectively. If AB = 14¢cm,

AB + BC + CD + DA is :
(a) greater than 2BD

and MN = 15cm, find CD. (b) less than 2BD
(c) equal to 2BD

(d) none of these

29. In the given figure EADF is a
recta?ngle and ABC is a triangle whose
vertices lie on the sides of ' |EADF.
AE =22. BE =6, CF = 16 and BF = 2.

(a) 16 cm (b) 18cm Find the length of the line joining the
(c) 8cm (d) 10cm mid-points of the sides AB and BC.
25. Ina quadrilateral ABCD, /B = 9(° ,
and AD? = AB? + BC? + CD2. E 22 A
Then / ACD is equal to :
(a) 60° (b) 90° 6
(c) 30° (d) 45°
26. ABCD is a square, F is the mid-point B
of AB and E is a point on BC such 2
that BE is one-third of BC. If area of F 16 D
D FBE = 147m? , then the length of =
ACis: (a) 4 (b) 5
(8 21y2m (b) 63m (c) 3.5 d) 42
30. ABCD is a rectangle, PC = 9cm, BP =
(c) 63.\/5111 (d) 42\/5111 15c¢m, AB = 14cm. Then the angles
27. the diagram below, ABCD is a of D APB are such that :
rectangle. The area of isosceles right
DBCE is 14, and DE = 3EC. What is A D
area of ABCD ? a.
A B
14 B P
4 Y 15 9
C
E (a) a>b>g (b) a>g>Db
i ko i 19 gf ¥ 1 (ﬁ) a;sh}oaf its
| ar on has
.In the quadrilateral ABCD angles equal to 'g times of two right
A .
B angles, then the nubmber of sides is
CER
D ¢ (c) 6

{223]

* Maths- Where Concept is Paramount-
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32.

33.

34,

35.

36.
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If each interior angle is double of each
exterior angle of of a regualr polygon
with n sides, then the value fon is:
(a) 8 (b) 10

(b) 5 (d) 6

If the length of the side PQ of the
rhombus PQRS is 6 cm and / PQR =
120°, then the length of QS, in cm is
(a) 4 (b) 6

(c) 3 (d 5 ,
ABCD is a square. M is the mid-point
of AB and N is the mid-point of BC.
DM and AN are joined and they met?t
at O. Then which of the following is
correct ?

(@ OA:OM=1:2

(b) AN = MD

(c) ~ADM =_ ANB

(d) AMD =/ BAN

The side AB of a parallelogram ABCD
is produced to E in such way that
BE = AB. DE intersects BC at Q.The
point Q divides BC in the ratio :

(a) 1:2 (b) 1:1

c) 2:3 d) 2:1

Each interior angle of a regular
polygon is 18° more than eight times
an exterior angle. The number of

sides of the polygon is :
(@) 10 (b) 15
(c) 20 (d) 25
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38.

39.

40.

41.

42,

Measure of each interior ang}
regular polygon can never be .
(a) 150° (b) 105°
(c) 108° (d) 144°
ABCD is a rhombus whose siqea AB.
4cm and / ABC = 120°,then the
length of diagonal BD is :

(a) lcm (b) 2em

(c) 3cm (d) 4cm

If the diagonals of a rhombus gp, 8
and 6, then the square of its sideg jq,
(a) 25 (b) 55

(c) 64 (d) 36

The ratio between the number of
sides of two regular polygon is | )
and the ratio between their interior
angles is 2 : 3. The number of sideg
of these polygons are respectively :
(a) 3,6 (b) 5, 10

(c) 4,8 (d) 6, 12

The parallel sides of a trapezium are
in a ratio 2 : 3 and their shortest dis-
tance is 12cm. If the area of the tra-
pezium is 480sq.cm.,the longer of the
parallel sides is of length :

(a) S6cm (b) 36cm

(c) 42cm (d) 48cm
ABCD is a quadrilateral inscribed in
a circle with centre O. If £ COD =
120° and / BAC = 30°, then /BCD
is :

(a) 75°
(c) 120°

Eofa

(b) 90°
(d) 60°

.



LEVEL - 3

[fABCD is a | |gm and AC and Bp

be its diagonals, then :

(a) AB? + BC? + CD? + DA? = AC? .
BD?

(b) AB? + BC? + CD? + DA? = pc2 4
BD?

(c) 4AD? = 2AC? + 2BD?

(d) 4AB? = 2AC? - 2B(C?

In the given figure, ABCD is a | |gm

and line segments AX, CY bisect the
angles A and C respectively, then
which one is true :

D X C

A Y . B
@ AX || CY
(b) AX || CY is a trapezium
(c) AX is not parallel to CY
(d) None of these.
In the given figure, 4N | BD and

CP 1 BD and ABCD is a parallelo-
gram, then :

A "
P
N
A c
@) AN « cp (b) AN = CP
(©) AN = —;—Cp

) none of these.

e Maths Where Concept is Paramount-
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In the given figure, PQRS is a | |gm,
Pf) and QO are respectively, the angle
!Jlsectors of /Pand / Q. Line LOM
18 drawn parallel to PQ, then :

P Q
(a) LO = 20M

1
(b) LO = '2— OM
(c) LO=0OM
(d) None of these.
The diagonals of a | |gm ABCD
intersect at O. A line through O
intersects AB at X and DC at Y, then:
(a) LO = 20Y
(b) OX =0Y
(c) OY =20X
(d) None of these.
ABCDisa | |gmand / DAB=60°. If
the bisectors AP and BP of angles A
and B respectively, meet at P on CD,
then :
(a) CP=2DP

1
(b) CP= EDP

1
) cp=3DF

- (d) CP=DP

In a | |gm ABCD, the bisector of LA
also bisects BC at X, then :

(a) AD = 2AB (b) AD = AB
(c) AD =3AB
(d) none of _thesc




10.

11,

12.

are 8m and 6m

Diagonals of a | |gm bt

respectively. If one of side is Sm,

the area of | [gm is :
(@) 18m? (b) 30m§

() 24m? (d) 48m )
ABCD is rhombus in which / C=60",
then AC: BD = ?

C

A

(@ V3:1 (b) V3:2

(c) 3:1 (d) 3:2

Ina | | gm, the adjacent side are 36cm
and 27cm in length. If thedistance
betweenthe longer sides is 12cm,
then the distance between the
smaller sides is :

(a) 12 cm (b) 16 cm

(c) 14 cm (d) 15cm

The length of the diagonal BD of the
| |lgm ABCD is 18cm. If P and Q are
the centroid of D ADC, then length
of PQ is :
(a) 5.5 cm
(c) Scm

(b) 7cm
(d) 6cm

In the given figure, ABCD is a
rectangle. P and Q are the mid-points
of sides CD and BC respectively. Then
the ratio of area of shaded portion
area of unshaded portion is :

Advance Maths- Where Concem is Pc -
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13.

14.

15.

(a) 5: 4
(c) 5 3
PQRS is a square, M is the mjq.,. .
of side PS and N is the im;,f,,.%cti
point of its diagonals. Then tp,

Area (OPQNM) : Area (DPQRS) -

(b) 3:5
(d) 5:8

Poip;

E]'atio

P Q
K\\
"\\ /
M——<}
,I // \\\\
¥4 Y
| Fd \
S R
(@ 5:8 (b) 3:8
(c) 1:4

(d) none of these

In the adjoining figure ABCD ijs 5
| |gm and E,F are the centroids of D
ABD and D BCD respectively, then
EF equals :

D 5
0
A B
(a) AE (b) BE
(c) CE (d) DE

A square and a rhombus have ﬂ}e
same base and the rhombus ¥
inclined at 30°. What is the ratio of
the area of the square to the area of
the rhombus :

(@) J2:1 (b) 2:1

© 1:1 d 2:43

ABCD is a trapezium and P, Qi‘;
the mid-points of the diagonals
and BD. Then PQ is equal to:




19,

In the | |gm ABCD, P,Q,R and S are
mid-poits of sides AB, CD, DA and
BC respectively. AS, BQ, CR and DP
are joined. Find the ratio of the area
of the shaded region to the area of

the | |gm ABCD.
@ 1/5 (b) 1/4
(c) 4/15 (d) 1/6

d) %(AB + CD)

17. ABCDisa ||gm. P, Q, Rand S are
points on sides AB, BC, CD and DA
respectively such that AP=DR. Ifthe 9q.
area of the | |[gm ABCD is 20cm?,

then the area of quadrilateral PQRS

is :

Side AB of rectangle of ABCD is
divided into four equal parts by points
X, Y, z. The ratio of the

5 R - area (AXYC) is -
Area(Recatanlge ABCD) =
S Q () 1/7 (b) 1/6
(c) 1/9 (d) 1/8
A _Ip 21. In a quadrilateral ABCD, with
P unequal sides if the diagonals AC and
(@) 10cm? (b) 8cm? BD intesect at right angles,then :
(c) 12cm? (d) 8.5cm? (a) AB2 + BC? = CD? + DA?

18,

In the given figure, ABCD is a
rectangle with AE = EF = FB. What
is the ratio of the area of the area of
the DCEF to that of the rectangle ?

D C

E P

tS (b) 2:3
4 (d 1:6

— 7D

22.

(b) AB? + CD? = BC? + DA?

(c) AB? + AD? = BC? + CD?

(d) AB? + BC? = 2(CD? + DA?)

Two circles with centres A and B and
radius 2 units touch each other
externally at ‘C’. A third circle with
centre ‘C’ and radius 2’ units meets
other two at D and E. Then the area
of the quadrilateral ABCDE is :

(@) 22 squnit  (b) 33 sq.unit

(¢ 3J2squnit  (d) 2y/3 sq.unit

Maths- Where Concept is Paramount
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Hints and Solutions:
LEVEL-1
2.(d) no. of diagonals of a polygon of 1
sides |
_nn-3) =8(8—3) _20
2 2
-3
3.a) = n(n2 | . 44 = n(n -3) = 88
=11 x8
n=11

4.(c) angles be x, 2x, 3x, 4x
. x+2x+ 3x+ 4x=360°=10x =
360° = x =36°
largest angle = 4x = 144°
Scanneg, tay Cgmdesnaerso°- b and £ BCD =

9.(a)

2(A82 + BCQ] = ACQ + BD2
BD? =[2(196 +324)]- 956

Since dlagonals blBet:t each

at right angles and aJ
equal. Sideg

D

il B

AN2 + RN2 = AR2?



——

Let BD = 24cm
BM = 12cm

; AM=J132 —12° =5cm
. AD=2AM = 10cm
15.d) £ACB =/DAC = 50° (Alternate
inerior / S)
2 BOC = 180° - 80° = 100°
Now, in ABOC,
£ DBC = 180° - (100° + 50°) = 3p°
16.(b) Perimeter of | |gm = 22¢em
— 2(a+b)=22cm =a+b=11
= b=11-a=11-6.5=45cm
+ shorter side, b = 4.5cm
17.(c) Since, adjacent angles of a
are supplementary,

2 . Sx
. x+—xx=180° = — =180°
. X*3 3 0

Ilgm

x=108°
2 2 B damn
—éx- 5 X 108 72
.. angles are = 108°, 72°, 108°, 72°
- largest angle = 108°
20d ,A+,/B=180° and /A= /B
= /A= /B=90°
So, the given | | gm may be a square or
arectangle as in both the cases the
adjacent angles are equal.
2lfa) 7x=42= x=6
and 8y =32 = y=4

2.d) ar(AOAB)= i—ar( | | gmABCD)

1
" ;‘X56=14cm2

24'(‘1' Since, the diagonals of a rectangle
bisect each other.
OA=0D= ,ODA =, 0AD
But, ,AOD = 44° (vertically
OPposite angle to / BOC)

® Maths- Where Concept is Paramount—
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25.(b)

26.(c)

27.(c)

28.(a)

29.(b)

30.(a)
=
=

OAD = %(180" - 449

1
="“1 °= o
2(36) 68

PQRS is a square, SP = SR and ZS
= g(Q°

and /SRP= /SPR= -;—(90“) =45°

Hence, / SRP = 45°
Since, AB = BC

1
£BAC = £ BCA = (180°-50)

= 65°
Sum of interior angles of
pentagon = (n - 2)x 18
(S - 2)x 180° = 540°
140° + x + 2x + 3x + 4x = 540
10x=400 = x= 40
largest angle = 4x = 4x40 = 160°
In D PSX and D QRY
ZX=,/Y=90° and SX =RY
[+ SX=SY-XYand RY=SY-SR=
SY - PQ = SY - XY]
and PS = QR (sides of a | | gm)
DPSX = DQRY (R.H.S axion)
PX = QY

1
Area of (ASTR) ~ E(SR"P S)
Area of (APQRS) ~ " (SRxPS)

L

) 1:2

Area of | | gm ABCD = Base x height
ABx DM = ADxCL

16x 12 = AD xCL

ADx 15=AD = 12.8 units




31.(d)

m)
32.(b)
- - |

34.(d)

Advance Maths- Where Concept i

A B

area of square ABCD = area of

rhombus ABPQ
b/c they lie on the same base AB

and between two parallel lines (1 | |

h

B=ab
A=ah=A<ab|[. h<D]
A<B

A D

B ¢

Area of quadrilateral ABCD
= Area of D ABD + Area'of D BCD

1
= ExBDxAL+%xBDXCM

]_ .
=§><BD(AL+CM)

1
5 x64(13.2 + 16.8)

=

=—x64x30= 960sq.cm,

Scanned by CamScanner

35.(c)

b4y

36.(d)

37.(c)

Paramoyn¢—

If the number of sjde
polygon be n, then

2n — 4
n

8 of the

]x90°= 144°

(2n-—4)5:8
n
10n - 20 = 8n
2n = 20
n=10

ZABC + /CDA = 180°
ZCDA =180° - 72°
= 108°
/ ADE = 180° - 108°
=79

AD || BC

£ BCD = / ADE = 72°(correspond-

ing angles)

D

{ E

B

ZABC + ,ADC = 180°
ZCBE = 50° = £ ADC
ZABC = 180° - 50°

= 130°
ZADC = 180° - 130°

= 50°




LEVEL-2

1
3.d) ,AOB-= 5 (£ C+ £ D)[solution of

Q.(2)]
1

='§(180°) '+ ZC+ /D = /A
+ZB=180°]
= g(Q°

S.(b) X+2x+3x+4x=360:>x=36

The angles of quadrilateral (in or-

1.(b)

der) are
36°,72°,108°,144°
D C
/BAD = /BCD =90° (angle made
in semicircle)
Similarly,
- /ABC= £ADC =90° A B
= ABCD is a rectangle .
Since, opposite angles are supple-
20 C D mentary,

Therefore, AB | | CD. Hence, it is a
trapezium.

Q 6.(b) interior angle of pentagon =
360°
180° - = 105"
| 71/\2”E B :

/AOB=180°-(/1+ /2) . interior angle of required polygon
1 1 = § X ].OSQ - 90'0
= 180° - 5£A+§£B] -6

each exterior angle of the requird
polygon = 180°- 90° = 90°

3
" 180°-5[360° - (£ C + £ D)) 360 _
2 + no. of sides = —50——4

LA R LB+ LQ+ LD = 360 7.(c) Sum of all exterior angle = 360°

sum of interior angle = 360°x 3

. ZAOB=180° - 180° +~( £ C + /D) - 3603
| ’ — n=8 (no.of sides) |
-'1_ 8.(d) go thruogh option, let us con§1des
v e 45 the correct option (d). no. of sides.
6:9=2:3

exterior angles = 60°, 40°

'

M Maths. Where Concept is Paramount—
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interior angles = (180° - 40°)
120 : 140

6:7

hence, option (d) is correct.

Alternatively:-
Let the no. of sides be 2n and 3n.

And let their
interior angles be 6y° and 7y°.
exterior angles are (180° - 6y°) and

(180 - 7y)°

=X —180°-6 i
3n y ()
360

2 —180°-7 i
3n ot

solving (i) and (ii), we get n =3

". no. of sides of the polygon are 6, 9.

9.(b)

Go through options.

Alternatively :

Let interior angle = I and exterior
angle = E

. [+E = 180° (i)

10.(a)

and | -.E = 60° (ii) (given)
on solving (i) and (i), we get [ = 120°
and E = 60°

360°
60

BD = 122 +16? =20cm (A ABD
right angle triangle)
A BCD is equilateral traingle.

=6

number of sides =

. Area of O ABCD = Area of AABD +

Area of A BCD

V3

1. 3
—-x16 — (208
2 X12+ 2 (20)

= 96+100J3
= 4(24 +25/3) cm?

and Ef—=mn45°=1

DF
DF = CF = 6cm

. AE = {12° -6 =6+3cm

12.(c)

AD =6 +6 +g./3 =6(2+J§)
Area of trapezium ADCR

é—x(AD%—BC]xBE

%x[6(2+x/§)+6]x6

32+V3 +1)x6= 183 + 3 )em?

- Area of | |gm = Base x Height

—

ar(| |gm ABCD) = ABx DM
(10x 7)cm? (i)
also, ar(| | gm ABCD) = ADxBN
(ADx 8)cm?___ (i)
from (i) and (ii), we have,
10x7 = AD x 8
35

AD S—_—=
3 8.75cm

Advance Maths- Where Concept is
. aramoyn¢—
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13.(d) 8cm | EF + FG + GH+ HE

AD+DC+CB+BA
16cm 10cm 1
5AD+DC+CB +BA) i
AD+DC+CB+BA) 2
D 2em ¢ f.00 (BC i B
| . ZBCE = 102°, AB = CD = ED
AC?+ BD?= (AD?+BC?+2 (ABx CD) (given) oE
- (325566++ 1190:;)) +2(8x12) ;. CD=ED = CE [+ AB = CE]
= 548cm? AECD is a equilateral triangle.
14.(b) Let no. of sides = n ZECD = 60°
each equal side subtends equal £ BCD = 102° + 60°
angle at the centre. = 162°
360 18.(c) AB || PQ || CD. So, ABPQ is a
nx36 =360°=n = Eg-=10 rectangle
D C
Q R =
15.(a) R /\ .
1
Draw EF || AB *. AARB= = (OABPQ)
In right angled A EOA and A OCF.
OA? = OE? + AE? and OC? = OF? + 1 1
CR2 = EX(EXDABCD)
;. 0A% + OC? *
= OE?+AE? + OF? + CF? ___ (i) 1
Similarly in the right angled A DEO = |PABCD)
and A OBF, 19.(c) Since, the diagonals of a trapezium
OB? + OD? = OE? + OF? + DE? + BF? divide each other proportionally,
~ OB’+0D?= OE? + OF? + CF” + AE? AO BO  3x-19 x-3
(1) - C0" 0D~ x-5 3
- DE = CF and BF = AE) = Ox-57=x-8x+5
from (i) and (ij) o
oy DX * OC? = OB? + OD? = - 17x+72 =
b} By mid-point theorem = x=8o0rx=9

1 1

EF _FG _GH HE 1

AD DC CB BA

2
2

(23]

Maths- where Concept is Paramount—
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— n=13 (* n can not be p

: . CBative
1,0 1 23.(c) In D ARB, P is the mid-pg;p, ]
but, AB = DC= EAB'2DC and PD | | BR of Ay
C=CY — D is the mid-point of AR,

= :lso_AB | | DC[- ABCD isa | |gm] .. ABCDisa ||gm

Thus in quadrilateral AXCY, = DC|| 4B = DO L | AB
. Thus, in is the mid-pa:

— AX || CY and AX = YC ' Dot
Hence, quadrilateral AXCY 1s a AR and DQ, N A.B of
| | gm. .. Q is the mid-point of RB — BR.

2BQ.

21.b) D 1

24.(a) MN = 7 (AB + CD)=>2x15 = 14,

CD
— CD = l6cm.

AB || DC and EC cuts them 25.(b) A D
»dFby £ATSeAnner /
— /== [+ 21 = /9)




27.(c)

. 1
Area of (D BCE) = 5 XXxx

. Area of (0 ABCD) = (DE + EC)x x

28.(8)

= 4ECx x

= 4x.x
= 4x¥=4x28

=112

As we know that sum of two sides
of a triangle is greater than the
third side.

. inDABD -AB+DA>BD__ (i

and in D BDC - BC + CD > BD__(ii)

. from (i) and (i) AB + BC + CD + DA

29.(b)

> 2BD.

EF = AD = 8 (-:EADF is a rect-
angle)

CD=22-16=6

in right angled D ADC,

AC= |82 +6% =10

:. length of the line joining the mid-

30.(a)

3L b)

1 .
points of AC & BC = "2"(AC}=5

DP=14-9 = 5cm
From D BPC, BC? = 15? - 92
= 122
= BC = 12cm.
From D APD, AP? = AD? + DP?
= 122 + §°
=> AP = 13cm
InD ABP, AP < AB < BP. Therefore
Y<B<a
i.C. a>b> g

Each interior angle of a regular
polyg()n

" 130x3;-=103°

ounce Maths. Where Concept is Paramount-

Bach exterior angle = 180° - 108°
=72

Scanned by CamScanner

32.(d)

. no. of sj B o
sides 7 5
(2n-4)x90° 360°
- x2
n n

33.(b)

34.(b)

. plAB°

(2n-4)x90° =2 x 360°

2n-4=>8:>2n= 12 —=n=6

S R
-
0
60°

Q

/PQO = %—PQR =60°

FromAPOQ,

ZOPQ = 180° - 90° - 60°
= 30°

sinOPQ = %g

00 =P sin 30°=6x—é—=3

. QS=2x3=6cm
A D
M
B N C

If AB = 2x, then BN = x

. AN=+4x?+x* =5x

Similarly

MD = V4x? + x* =/5x




35.(b)

A B
AD || BC
= AD || BQ

Point B is the mid- pomt of AE.

. Q is the mid-point of DE.
In Ds DQC and BQE,

£2DQC= /BQE
2DCQ= /QBE
ZCDQ = £ QEB
= ADQC = AEQB
= BQ=CQ
= Q divides BC in theratio 1 : 1

36.(c) .. (n — 2)5 180

it
= 8):360 +18
n
= (n-2)x10 =160 +n
= 10n-20=160+n
= 9n = 180
= n=20
(2n -4)x 90°
37.(b) .. e = 105°

= (12n-4)x6="7n
= 12n-24 =7n
= S5n =24

24 L
= n= '-S“Whlch 18 impossible

Advance Maths- Where Concept is
Paramoyn¢—
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From D BOC,

BO

cosb0° = 9

Bo=%x4=2cm

- BD=2x2=4cm
39.(a) BO =4 units: OC = 3unjtg
/ BOC = 90°

BC = /4% +3° =S units
A
I D
B \

C
. BC? = 25sq.units

(2n-4)x90°

U
mlﬂl\}

6n -12=4n- 4
6bn-4n=12-4=¢

2n= 8=>n=4
) Sides of the trapezium = 2x an
3.u:m

LUy U

41. (

[o R

5(2x+3x)x 12 = 480




LEVEL-3

1.(b) 0 c
M
A B
COD = 120 v e |
Z = L= ) e}_' .
/BAC = 30° *. M will be the mid-point of each of

the diagonal AC and BD.

/CAD =+ x120° = 60° In D ABC, AB? + BC? = 2(AM? + MB?)
2

{Appolonius Theorem)
. D ADC
(angle made on other part of circle s .
is half of angle made at centre by AD? + CD?= 2 (AM? + DM?)
same are ) =2 (AM? + MB?)
o [DM = MB]
B ABAD = 90 Adding’ ABZ + BC2 3 CDQ + DA2
. «BCD= 180° - 90° = 4AM? + 4MB?
= 90° = (2AM)? + (2MB)?
(cyclie quadrilateral) ' = AC? + BD?
2.(a) D X c
1,43
B
; y
ABCD is | |gm (given)
/A= /C
1 1

= L1l=72 ___{i
Now, AB || DC and the transver-

sal CY intersects then:

Z2=/3 (iii)

from (i) and (ii), we get £ 1= /3
Thus, transversal AB intersects AX
and YC at A and Y such that /1 =
Z3 l.e. corresponding angles

are equal.
AX || CY.

Maths. Where Concept is Paramqunt*
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5.(b)

Advance: Maths- Where Concept is Paramoune—

in D ADN and D CBP,

/1= 42 [+AD || CDI]

/ AND =/ CPD and AD = BC
(- opposite sides of a | |gm are
equal)

by AAS criterion of congruence

AN = CP ;

Since PQRS is a | |gm.

PS || QR

PL || QM and LM | | PQ (given)
PQML isa | |gm

PL=QM (Opposite sidesofa | |gm
are equal)

/1= /2 __ (i) [OPis the bisector
of / P}

and £1= £3__(ii) [+ PQ | | LM]
from (i) and (i) £2 = £3

inOPL, /2= /3

OL = PL (iii)
Similarly, /4= /5and /4=/6
Zo= /6 |
inDQOM, /5= /6

OM = QM

OM = PL (iv) [ PL = QM]

from (iii) and (iv), OL = OM
D Y C

A

in D OAX and D OCY.
Zl=/2(AB || DC)

Scanned by CamScanner

6.(d)

U4yl

Z3= £4 [(vertically o,
angles) oc PPosiy
and OA = (" diagon
| |gm bisect each als of 3
other)
D OAX = D OCY
OX = 0Y
, DAB = 60°
/B =120°
120°
£ ABP = PBC = —5==60°
D - c
A 300‘ 609 B

£ZDPA = /BAP = 30° [ /AB ||
DC and AP inter sects them]
Thus, in D ADP,

/ DPA = / DAP = 30°
AD = DP (i)

Similarly, / BPC = / ABP = 60°
in D BPC, / BPC = / PBC = 60°
BC=CP=AD ___ (i) (--BC=AD)

from (i) and (ii) CP = DP.

D —C

X

A B

£ZB=180°- /A =180°-2/1
in D ABX,

L1+ 2+ /B=180°

L1+ ,24180°-2 1= 180
Zl=,2

AB = BX — 2BX = 2AB

BC = 2AB — AD = 2AB




c 36x 12 = xx 27

8.cl D = x=16
1Ld) .
0
A B
Let BD = 6cm and AC = 8m A 2
. A0 =4m and BO = 3m Since, diagonals of a | |gm bisect
S ‘let AB=5m , /AOB = 90° each other.
_, /BOC=/AOD = /DOC = 90° .. Bo=op=18_9cm
Here, ABCD is a rhombus | 2
. Area of rhombus ABCD P = centroid of D ABC
1 1
6x8 " . e
_ ACKBD= =24m2 k] OP 30B ng 3cm
2 2 Q = centroid of D ADC
9.(a
@ g w5557 C OQ=%-0D=-;—><9=3cm

S PQ=0P+0Q=3+3=6cm .
12.(c) Let total area of rectangle ABCD =

i 8 16 unit .
. D P C
inD BDC, BC = CD .
= /BDC=/DBC=x° (let) © | © | . area of O AXPD =
. X+x+60°=180° = x=60° A % B
.. D BDC is an equilateral triangle 16
.. BD =BC = a (let) — = 8 unit
inD AOB, / AOB = 90° 2
- AB? = QA2 + OR? -, area of APCQ =2 unit
= O0A? = AB?- OB? D P
2 2 ® |
a 3a
= 0A2=a2_(—] =-—3?—--_—:>OA-_-.J___ @ -, area of A ABQ =
2 4 2
A X
= AC=2(0A) = /3¢ | 4 unit
. AC:BD=J§a:a=\/§:1 ‘D CM Q
36cm ® @

| D I '-.__“_“ C M Q @
| X ‘-"‘"-- . ®
10.(n) 27cm ! 8 A B
|12Cﬂ'l A .
al_b B + area of AADP = 4unit

|
let g - total area of shaded portion = area
AreaIStfance y - of A ADP + area of A ABQ
of | |gm = Base x Height

M Maths. Where Concept is Paramount
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13.(b)

4+2+4-= 10 unit
area of unshaded
of AAPQ |
16 - Area of shaded portion
16 - 10 = 6unit .
required ratio =10:6 " 5:3
Let ar(O PQRS) = 8 units

P

portion = ared

AreaofPQNM=arcaofA PNQ +

area of A PNM
2 + 1 = 3 units

. area (OPQNM) : area (OPQRS)

1:4.(a;

1 1
-, OE = §A0 and OF = ~OC

3:8
AE:EO0O=2:1andCF:FO=2:1

3

. EF=0E + OF =

15.(b)

—

Advance Maths- Where Concept is -
aramount—

1 1
—(AO+0C)=—AC=AE
3( 3

D &
F E
Aso/
A M B

ABCD is a square and ABEF ijg g
rhombus

in 30° E..h_{..: 1
sin AF 9

FM=%,AF=AB=3.

Area of square = g2 mB"ADaa)
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16.(c)

So,

Area of rhombus = ABy gy

Jfa].
=a¥l3) " 2

Area of square 2
**"Area of rhombus |
in D APR and D DPC,
21=Z 2 (alternate angles)
AP=CP (P is mid-point of A
and /3 = /4 (vertically OPPost,
angles)
D APR= D DPC (ASA)
AR = DC and PR :lDP

in, P & Q are the mid-poj
Again, 'R and DB respectively .
D DRB,

1

1
. PQ - E(AB—AR)

L n_ o
. Q= ~(4B=CD) (:AR=D0

17.(a)

i

2

1
Area of (D PRS + D PQR) = 5 (area

1
of O APRD) + -Q—(area of OBPRC)

1 1
> (AP x AD) + = (PBx BC)

1 1 .
5 (APx AD) s (PBxAD) (B
AD)

1

"2' AD (AP + PB)

1

2 (AD x AB)

1

> larea of O ABCD)
1

7 %20 = 10cm’




LetBC=xandFB=y=EF=AE

Ad) _ - .
18 (..- AB = (A:Pea gfy . ar (A QCN) = 1unit (let)
Now, : = ar (ADMQN) =4 - 1 = 3unit
ACBF = 5% r M

I X Similarly, in DAX
and area of ACBE = —xx2y =y A P
3o RY ar (D DRM) : ar (D DAX) = 1 : 4
] 1 ar (g BRM) = 1 unit
| . areaof ACEF = Xy——xy.— = ar AX) = 4 - 1 = 3unit
iz 2 2 Xy ~. ar(D DRM) + ar (D QNC)
and area of rectangle ABCD = 3xy =1 +1
1 d ar(D szzlé?it
; ired ratio = —xy:3x and ar(D [ =4 + 1 = Sunit
%, Dequived ratige L)y but from (i) ar (D DRC) = 10 unit (2
=1:6 times)
Alternatively : - ar (D DRM) + ar (D QNC)
= 2x (2 times)
D C o = 4 units
Similary, ar 2(D 2APX] + ar (D BOS)
el 3

@ = 4units
F .. total shaded area =4 + 4
= 8 units
& area of | |gm ABCD = 40units

8 1
@ @ @ .. required ratio = '46 =§
‘ E F B 20 D C

Let ar(0O ABCD ) = 6 units
Base and height are same
ar(A CAE) = ar(A CEF) =
ar(A CFB) = 1 unit A o—IB
.. required ratio=1:6 X Y Z
19.(a) Let, AB = 4x units and

Q BC =y units

D C M :
@ ». O ABCD = 4xy sq. units
M =/ o
Q In AXYC
A © A @9 B XY = x units

B ; Wi .
Let total area of | | ABCD = 40 units Height = y units

1
Area of ﬁXYC=ExJ’

1
A XYC 5

Rectangle ABCD  4xy

1
R | 8
In A DMC, Q is mid point of DC and
QN | | DM
'~ DPBQ is also a | |gm)
=.'~" N is the mid-point of DM

" A (AQCN): ar(ADMC) = 1: 4

241

4q
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21.(b)

D

A

OB? + OC? = BC?

0C? + OD? = CD?

OD? + OA? = AD?

OA? + OB? = AB’

2(0B2 + OA? + OD? + OC?)
AB? + BC? + CD?+ DA?

2(AB? + CD?) = AB?+ BC? + CD? + DA’

AB? + CD? = BC? + DA?

. EC=BD=2cm & EC || BD
~. ED || BC&ED =BC =2cm
. ABDE will be a trapezium

Advance Maths- Where Concept is Para.mountk

AB = 4units
DE = %AB = 2|._1nits

DF = /2% -12 = /3 units

—21—(AB + DE)x DF

3
2
3J3: sg.cm

(4+2)x/3
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16.. (c)
19,

22

. (b)
. ()

- (a)
10.

(b)
(b)

(a)
- (b)

i1,
14.
17.
20.

. (d)
. (a)

(d)

. (b)

(a)
(a)
(d)
(a)
(c)

. (b)
. (b)
. (©)

. (¢)
. (b)
. (d)
11.
14,
17.
20.
- 23.
26.
29.
32.
35,
38.
41.

(a)
(b)
(b)
()
()
(d)
(b)
(d)
(b)
(d)
(d)

. (a)
. (b)

(c)
(d)
(a)
(a)
(d)

12,
15.
18,
21.
24,
27,
30.
33.
36.

12.
15.
18.
21.
24,
1.
30.
33.
36.
39.
42.

12.
15.
18.
21.




